Calculus 12

Section 4.2 -
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Ch. 4: Extreme Values

Practice Problems
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¢) Local Maximum Values
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2. Sketch the graph of each function and use it to state the absolute and local maximum and minimum

values of the functions.

a) fx)=3x—-1,x>-1

b) gx) =3x—-1,x=-1
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‘ ¢) fx)=x2+1

Ch. 4: Extreme Values
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3. Find the critical numbers of the given functions.

Ch. 4: Extreme Values
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4. Find the absolute maximum value and absolute minimum value of the function. wEEn cprT PoTpIs -
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. 5. Show that the function y = x?1 + x** + 13x does not have a local maximum or a local minimum.
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6. Find the value of k if the function y = x2? + kx + 72 has a local minimum at x = 4.
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7. Find the values of a and b if the function y = 2x3 + ax? + bx + 36 has a local maximum when
x = —4 and a local minimum when x = 5.
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